
Two-Piece Joint Drive Axle Set Assembly Manual

© VBC Racing 

Steering Block (Composite) A-03-VBC-0034 x 2
(not included) 

VBC Racing Two-Piece Joint Drive Axle Set D-05-VBC-0055

Inner Axle for Two-Piece Joint Drive Axle A-03-VBC-0069 x 2

Wheel Axle for Two-Piece Joint Drive Axle A-03-VBC-0070 x 2

Axle Joint for Two-Piece Joint Drive Axle A-03-VBC-0071 x 2

Axle Inner Joint for Two-Piece Drive A-03-VBC-0079

Axle Lock Spring for Two-Piece Joint Drive Axle A-03-VBC-0072

Two-Piece Joint Inner Ball Bearing C-02-BB-1053-B

5x10 Ball Bearing C-02-BB-1005-B (not included)

M1.7x8 Shaft Pin A-03-VBC-0073

M2x12 Shaft Pin B-02-VBC-0020-12

M3x8 Roundhead Screw C-02-SC-R0308 (not included)

M3x2 Set Screw C-02-SC-SS-0302

Ball Connector B-02-VBC-0045 (not included)

Two-Piece Joint Inner Ball Bearing

5x10 Ball Bearing(not included)

Ball Connector(not included)

M3x8 Roundhead Screw(not included)

Steering Block(not included) 

Wheel Axle for Two-Piece Joint Drive Axle

Axle Lock Spring

Axle Joint for Two-Piece Joint Drive Axle

M1.7x8 Shaft Pin

M2x12 Shaft Pin

Axle Inner Joint for Two-Piece Drive

Inner Axle for Two-Piece Joint Drive Axle

M3x2 Set Screw

Axle Lock Spring

Axle Inner Joint for Two-Piece Drive

Grease
Grease

5x10 Ball Bearing(not included)

Ball Connector(not included)

M3x8 Roundhead Screw(not included)

Steering Block(not included) 

Two-Piece Joint Inner Ball Bearing

Wheel Axle for Two-Piece Joint Drive Axle

Axle Lock Spring

Axle Inner Joint for Two-Piece Drive

M1.7x8 Shaft Pin

Axle Joint for Two-Piece Joint Drive Axle

Axle Inner Joint for Two-Piece Drive

Axle Lock Spring

M2x12 Shaft Pin

M3x2 Set Screw

Inner Axle for Two-Piece Joint Drive Axle

Grease
Grease

Left Joint Assembly

Right Joint Assembly


